Problem set 6 
Labour Economics seminar 21 November 2008 

Part 1.

Consider the model of on-the-job search (3:1.2.2). Discuss how the reservation wage depends on the arrival rates of job offers in different states.

Part 2 Wage Bargaining 

a. Explain why the right to manage model represents an inefficient outcome. Does this characterization depend on union objectives? 

b. Show by means of a monopoly union(s) model how the level of wage setting affect the real wage level. (Hint: Moene, Wallerstein and Hoel, ch 11). 
